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SAS Output:              The TTEST Procedure
                        Variable:  react_time

depr_amt      N       Mean    Std Dev    Std Err    Minimum    Maximum

h12           8    19.3625     1.1856     0.4192    17.3000    20.9000
h24           8    20.7250     1.5953     0.5640    18.3000    23.2000
Diff (1-2)         -1.3625     1.4054     0.7027

 depr_amt     Method              Mean      95% CL Mean       Std Dev

 h12                           19.3625    18.3714  20.3536     1.1856
 h24                           20.7250    19.3913  22.0587     1.5953
 Diff (1-2)   Pooled           -1.3625    -2.8697   0.1447     1.4054
 Diff (1-2)   Satterthwaite    -1.3625    -2.8815   0.1565

            depr_amt     Method            95% CL Std Dev

            h12                            0.7839   2.4129
            h24                            1.0548   3.2469
            Diff (1-2)   Pooled            1.0290   2.2165
            Diff (1-2)   Satterthwaite

     Method           Variances        DF    t Value    Pr > |t|

     Pooled           Equal            14      -1.94      0.0729
     Satterthwaite    Unequal      12.925      -1.94      0.0747

                        Equality of Variances

          Method      Num DF    Den DF    F Value    Pr > F

          Folded F         7         7       1.81    0.4516


R Output:

> t.test(h12, h24, var.equal=T)

        Two Sample t-test

data:  h12 and h24 
t = -1.9389, df = 14, p-value = 0.07294
alternative hypothesis: true difference in means is not equal to 0 
95 percent confidence interval:
 -2.8696869  0.1446869 
sample estimates:
mean of x mean of y 
  19.3625   20.7250 

> t.test(h12, h24, var.equal=F)

        Welch Two Sample t-test

data:  h12 and h24 
t = -1.9389, df = 12.925, p-value = 0.07466
alternative hypothesis: true difference in means is not equal to 0 
95 percent confidence interval:
 -2.8815357  0.1565357 
sample estimates:
mean of x mean of y 
  19.3625   20.7250
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